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3. Please answer the following questions: (& 10 4%)

(1) What is the domain name in the e-mail address test@ntue.o0v? 2 %)

(2) What are the functions for an operating system? (2 4)
(3) How many layers are there in the TCP/IP model? (2 %)
(4) Which layer of the TCP/IP protocol suite provides flow control? 2 %)

(5) What kind of network topology does a hub or a switch ﬁse? 2 %)
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4. Rewrite the following IPv4 address using the dotted-decimal notation: (4 %)

01011011 10110000 01110101 10010101
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6. A full adder is shown below. Please answer the following questions: (#£ 10 %-)
(1) What are the Boolean expressions? (5 %)

(2) What is the Truth Table? (5 %)
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7. TEBA—ERCETHEHER  FEHITHBENER -(1045)

#include <stdio.h>
int main()
{

int a;

int *aPtr;

aPtr = &a;

a=17,;

printf( "%d %d\n", a, *aPtr );
return 0;
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public class app {
public static void main(String args|[]) {
int a=100,b=7;
ex(a, b, '*);
}
public static void ex(int a, int b, char oper) {
switch (oper) {
case '+';
System.out.println(a+"+"+b+"="+(a+b));
case '-':
System.out.println(a+"-"+b+"="+(a-b));
case "*';
System.out.println(a+"*"+b+"="+(a*b));
case '/":
System.out.println(a+"/"+b+"="+(a/b));
default:
System.out.println("Unknown expression! ";

}
}
}
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